VCE & PDF https://www.passapply.com/i10-002.html|
2024 Latest passapply 110-002 PDF and VCE dumps Download

PassApply.com

110-002954S

XML Master: Professional V2

Pass XML Master 110-002 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/i10-002.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by XML Master
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest 110-002 Dumps | 110-002 Practice Test | 110-002 Study Guide 1/8


https://www.passapply.com/i10-002.html
https://www.passapply.com/i10-002.html
https://www.passapply.com/i10-002.html

VCE & PDF https://www.passapply.com/i10-002.html|
2024 Latest passapply 110-002 PDF and VCE dumps Download

PassApply.com

QUESTION 1

Which of the following is incorrect with respect to XML?

A. An XML document features high data readability

B. An XML document can be transmitted over general-use protocols such as HTTP and SMTP
C. XML is designed with the ideal structure for storage in an RDB (relational database)

D. Some RDBs (relational databases) can output results data in XML format

Correct Answer: C

QUESTION 2

When receiving an XML document following the DTD defined by NewsML (portions modified for this question), the
document is processed via SAX programming.

[DTD]
<!ENTITY % localid " Duid ID #IMPLIED
Euid CDATA #IMPLIED">

< !ELEMENT HNewaIdentifier (ewaItemId .,
Eewvizionld) >

<!ELEMENT MNewaltemId (H#PCDATL) >

<!ELEMENT RewvisionId (#PCDALTL) >

SIATTLIST BewvisionlId Update CDATAL #REQUIRED >

< !ELEMENT Identification ([MNewsIdentifier):>
<!ATTLIST Identification 3%localid; >

< !ELEMENT HNewsItetwn (Identification) >

< \ELEMENT NewaML (MewaItemt) >

Push the Exhibit Button to load the referenced "DTD". When processing the following "XML Document" according to the
method shown by "SAX Processing," which of the following correctly describes the output results (print method output)?
Note that the attribute value is not output for this question.
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[¥ML Docwment]

The root element name [(document element name) is "NewsML".

The ML document follows the "DTD" definition.

The XML Document has no document type declaration.

The ZML Document iz comprised of elements, attributes and character dats; comments and CDATL secions, etc. are not
ineluded.

The HML Document is indented, and includes ignorable white spaces such as line feeds and tabs bhefare the start-tags.

[S4X Processing]
Use the following "ContentHandlerImpl"™ class, and parse the EML Document using 34X,
Assume no eXecution errors.

claszs ContentHandlerImpl extends DefaultcHandler
private String elementlagune = "'

public volid star-Element |
String newesyaceURI, String looslllswne, String cffsans, Attributes stt=)
throws SAXException {
elementName = glame;
F

public void endElement |
String nawessacelURI, String localllawe, String oilsme)
throws SAXException {
elementMame = "7}

public woid characters(char[] ch, int start, int length)
throws SiXException {
if [ elementMName.equals("") == false | {
System.out.print (new String(ch, start, length)):
¥
}
¥

A. All character data of elements can be output, ignorable white spaces are not output

B. All character data of elements can be output, and ignorable white spaces are also output
C. A portion of character data of elements cannot be output

D. No character data of elements can be output

Correct Answer: B

QUESTION 3

Push the Exhibit Button to load the referenced "testml.xsd".
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[testml. x3d]
<¥3:i=chema
xmlns:xs="http://wrw.wd.org/ 2001/ IML3chema >
LHElelement name="IestiL" CLYpESTLeEdtmlliype™ />
<xs:icomplexType aame="testmlType'>
<H3:3equence:
<xa:element —ef="perason”
maxXlcours="unbounded"™ />
<fxs:i1s3equencex
</®s:icomplexTyper

<xzielement name="person’ type="peraonType’™ o
<xs:complexType aame="personType":=
<X3:Seqguences
<xa:elewment sef="name" />
<us:element zef="phone"™ />
</ %31 8equence>
</wa:complexTyper

<ys:element name="name" type="xs:string"™ />
f<xz:ielement name="phone" type="xs:scring™ S
</ws:ischemasr

Assume that "testml.xsd" is defined. Without rewriting this XML Schema Document (“testml.xsd"), create a new,
separate XML Schema Document to partially change the schema definition to write a cellPhone element as a child
element of the person element. As a result, the following "XML Document” will be valid against the new schema. Which
of the following correctly describes the new XML Schema Document? Assume the XML parser correctly processes the
XML schema schemalLocation attribute.
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[EML Document]
<TestML>
<pErIon:>
<name>John Smith</ nemes
<phone>03-0000-29929</ phone >
<pellPhone>000-1111-2222</cellPhones
</ personx
</ TestML>

(" A& <ws:schema xmlns:xs="hctp://wuw.ws.org/2001/XNLSchema™:
<H5:import schemalLoocation="testml.xsd" [f>
~Xs: complexType name="personType" >
<xS:sequences
<Hg:element ref="name" />
<xs:element ref="phone" />
<xg:element ref="cellPhone" />
</ w31 sequencex
< fxs:complexType:-
<xarelement name="cellPhone™ type="wxz:istring™ />
</ ®s:3chemar

" = <#s:ischema ¥mlns:=s="http://vuw.w3l.org/2001/ XML 3chemat >
<x5:incinde schemalLocation="testml.xsd" [f>
XK= :complexType name="newPersonType" substitutionGroup="personType'">->
XS 3equUEnces>
f<xg:element ref="name=" />
fxs:element ref="phone" />
fxg:element ref="cellPhone™ />
</ wasequences
<frsivumplexType-
<xs:element name="cellPhone”™ cype="uxs:scring” />
</ xa:achemas

- <x3iachema xmlns:xs="http://www. w3 . org/ 2001/ XNLSchema' >
<uziredefine schemalocation="testml.xsd":>
<xz:complexType hawe="personType’>
<¥SicomplexContent>
fxZiextension base="personType">r
<HS: SEQqUENCER
<xs:element ref="cellFPhone™ />
</ HE:sequencer
£/ HsexXtensions
</ wa:icomplexContent >
</us:complexTypesr
</Hs:redefiner
<xs:ielement name="cellPhone”™ type="xs:string”™ /»
</ x5 schemas

G ] It iz not possible to implement & function of the type proposed.

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: C
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QUESTION 4

Push the Exhibit Button to load the referenced "XML Document,” and process XML using "DOM Processing". Select
which of the following is the most appropriate expression of the results under XML 1.0. Line feeds and/or indents are not
reflected in the results.

[DOM Processing]
Process ZML using the following method.
Documwent output = updateXML{ doco ) ;
The waricklc doo hore rofocrcnoco the Doguwcnt inotancz of the loadod ENL Docunchnt.
The DOM parser is namespace awvare.
Asaune no exXecution errors.
publ:c static Document updateXML | Document doc |

Node datal doc.getElementsByTagameN2 [("urn: xmlmwascer : EX", "datal™).item(0);
Node dataz doc.gecElementsByTagameNS ("urn: xmlmascer : EX", "dataZ™) .item(0);

dotold . appcndChild | datol )i

return doc;
H

A. string value string value
B. string value string value
C. string value
D. string value

Correct Answer: C

QUESTION 5

Push the Exhibit Button to load the referenced "XML Document".
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[XML Document] (<
<Infinished xmlns="urn:xmlmaster: TNFINISHED ™
<List>
<Morker =mlns='urn:=mlmastcer: MOREERY
Maucs—"J0=LL WoLhiall®/ -
<horivicy xmlns="urn:xmlmaster:VISITY
Code="0002 "=
<DateTime>2004-07-01 13 :00</DateTime>
<Location xxmlns="urn:xmlmaster : CONTLCTM>
<MName>John Smith</Name:>
<Addressr31injuku Ward Tokvo</Lddress:>
</ Locations
<Jokh Proceduse="Install A:r Conditioner”
Time="z"/ >
LAl US S COMPLETED - S S enL WS
< Aotivitys
<horvivicy x¥xmlns="urn:xmlmaster:VISIT®
Code="0003 "=
<DateTime>2004-07-01 16:00</DateTime>
<Location #mlns="urn:xmlmaster : CONTLCTM:
<MName>Een Iiller</Name>
<hddress>3iibuya Ward Tokyo</ Address»
</ Locacions>
<Joh Proceduse="Clean air conditioner™
L1mE=" sy >
<3catusx>MATITING</ Status>
</ Activitys
</ List>
</ Unfinisheds>

When processing the "XML Document" according to the method shown by "DOM Processing," which of the

following correctly describes the output results (print and/or printin method output)? Although the expected processing
result is choice "A", processing may not occur as expected.

[DOM Processing]
Process ZML usiag the folloving method.
prrincXZML{ doec ):
The wariable doe here references the Docuwent instarce of the loaded XML Document.
The DQM parser 13 namespace avare.
Azzume no execu-ion errora.

public static wvoid printXML({ Documwent doc ) o
Node node = doc.getElementaByTaghamells |
furn:xmlmaster i CONTACT™, "MNswe™) .item (0] :
String name = node.getFirstChild() .getMNodeValue () ;

HNodelList nl = doc.getElementabByTagianeNs ("urn: xmlmaster :VISITY, "Aotivity™) :

for {(int i = 0; i < nl.getlength(): i—+) 4
Element elem = [(Element nl.item(i):
node = elem.getElementsByTaghameNs |
furn: xmlmwaster :VISITY, "DateTime™).item(0) ;
System.out . arint (Mot Visited:™);
System.out.arint (node.getFirstChild ) cgetlodeValue() ) ;
System.out.arint (7 Worker=" 4 name)
node = elem.getElementsbyTaghamels (
furn:¥mlmaster s CONTACTY, "MNewe™) .item(0)
System.out _arint (f, Wi=sitc (")

Syatem.out.rint (node.gecFirstChild ) .gectlodeValue (] ;
System.out.arintln(™) ™)

A. Not Visited:2004-07-01 13:00 Worker=Jeff Workman, Visit(John Smith) Not Visited:2004-07-01 16:00 Worker=Jeff
Workman, Visit(Ken Miller)
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B. Not Visited:2004-07-01 13:00 Worker=John Smith, Visit(John Smith) Not Visited:2004-07-01 16:00 Worker=John
Smith, Visit(Ken Miller)

C. Not Visited:2004-07-01 13:00 Worker=Jeff Workman, Visit(John Smith)
D. Not Visited:2004-07-01 13:00 Worker=John Smith, Visit(John Smith)

Correct Answer: B
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